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MTH301:Quiz#3

Question # 1 of 10 { Start time: 10:58:05 AM, 07 February 2021}

Quiz Start Time: 10:58 AM, 07 February .

Total Man

For a line integral, if the path of integration is parallel to x - axis 1.e.z = k, dz = 0 then
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MTH301:Quiz#3

Question # 2 of 10 ( Start time: 10:58:27 AM. 07 February 2021 )

Quiz Start Time: 10:58 AM. 07 Feb
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Ifr = f Pdz + Qdy and (Pdz + Qdy) is an exact differentialthen
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The grad operator V acts on a(an) and gives a vector.
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MTH301:Quiz#3 Quiz Start Time: 10;

If a vector field exists for all points of the curve C. then for each element of arc we can form the
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MTH301:Quiz#3 Quiz Start 1

Question # 7 of 10 ( Start time: 10:59:52 AM, 07 February 2021 )
Sign of line integral is reversed when the direction of integration along the path is reversed.

Select the correct option
True
F
Falze

Download More Quizzes Files From

VUAnNswer.com

S TN NN TN N N N N N N N N N AN N
F
=

NN AN NN AN AN A AN

© 40W‘OW‘OW‘OW‘OW‘OW‘OW‘OW‘OW‘OW‘OW‘OW‘OW‘O» e O e O <OW‘OW‘OW‘OW‘O»




S o <o>)@(<o>)@(<o>)@(<O>)®(<o»)@(<o>)®(<o>)@(<o>)@(<o>)@(<o>)®(<o>)®(<o>

)
y

01 <Ow‘°w‘°w‘OW<O>XX<OW<O>XX<Ow<ow<ow<ow<ow<O’W‘Ow‘Ow‘O»
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One of the line integral properties is f Pdz + Qdy = — f Pdz + Qdy
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MTH301:Quiz#3 Quiz

Question # 9 of 10 { Start ime: 11:00:23 AM, 07 February 2021 )
The value of the integral is ——— independent of the path of integration taken.
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MTH301:Quiz#3 Quiz Star

Question # 10 of 10 { Start time: 11:00:42 AM. 07 February 2021}

In general, the value of the line integral depends on the particular path of integration.
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Question # 1 of 10 ( Start time: 11:09:00 AM. 07 February 2021 )

The value of the integral I = f{rz +z + 2)dz is
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MTH301:Quiz#3

Question # 2 of 10 ( Start time: 11:09:23 AM. 07 February 2021 )

Quiz Start Time: 11:09 AM. 07 February 202

Total Marks:

Select the correct option

If Pdx + Qdy + Rdw is an exact differential equation then f (Pdz + Qdy + Rdw) is
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To evaluate the line integral, f V(r) dr, the integrand is expressed in terms of =, y, z with dr =
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Question # 4 of 10 ( Start time: 11:09:59 AM. 07 February 2021 )
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If P =32z + 2y and Q = 4zy then
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The div operator V acts on a(an) and gives a scalar.
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MTH301:Quiz#3 Quiz Start Time:

Question # 7 of 10 { Start time: 11:10:43 AM. 07 February 2021}

The path of integration of a line integral must be ————
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continuous and single-valued

straight and multi-valued

continuous and multi-valued
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Path of integration parallel to ,de=0. . Ic= f Q dy.
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MTH301:Quiz#3

Question # 9 of 10 ( Start time: 11:11:12 AM. 07 February 2021 )

Quiz Start Time: 11:09 AM. 07 Februa
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MTH301:Quiz#3

Question # 10 of 10 { Start time: 11:11:27 AM. 07 February 2021 )

Quiz St

Fath of integration must be

D

O \\@

Select the correct option \x
a) continuous Q

(b) discontinuous )

’ v

(c) single-valued \%Q

(d) Both (a) and (c).
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MTH301:Quiz#3 Quiz Start Time: 11:14 AM. |

Question # 1 of 10 ( Start time: 11:14:03 AM. 07 February 2021)

Sign of line integral is reversed when the direction of integration along the path is reversed.
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MTH301:Quiz#3 Quiz

Question # 2 of 10 ( Start time: 11:14:36 AM. 07 February 2021)

The path traversal in calculating the Green's Theorem is —--—

Select the correct option
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MTH301:Quiz#3

Question # 3 of 10 ( Start time: 11:15:12 AM. 07 February 2021 )

Quiz Start Time: 11:14 AM, 07
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lf{ Pdz + Qdy) is an exact differentialthen
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Question # 5 of 10 { Start time: 11:15:47 AM. 07 February 2021 )

MTH301:Quiz#3 Quiz Start Time: 11:14 AM. 07 Fe
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Select the correct option

To eveluate a line integral, the integrand is expressed in terms of z, y, z with
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Question # 6 of 10 { Start time: 11:16:13 AM. 07 February 2021 )

MTH301:Quiz#3 Quiz Start Time: 11:14 AM, 07 February 2021

Total Marks: 1

The line integral of F(r), fﬁ" dr’, is a scalar because F.diisa
c

Select the correct option

-

® Reload Math Equations

" scalar product

scalar field

N

vector product

vector field

01 <Ow‘ow‘ow‘Ow‘o;xx‘Ow‘o;xx‘Ow‘ow‘ow‘ow‘ow‘Ow‘ow‘ow‘o»

f
J
A
U
|
J
«
Y
¢
'
«
Y
¢
'
¢
'
¢
'
¢
J
¢
J
¢
J
¢
J
¢
Y

o

N AN NN N N AN NN NN/




S o <o>)@(<o>)@(<o>)@(<O>)@(<o»)@(<o>)®(<o>)@(<o>)@(<o>)@(<o>)®(<o>)®(<o>

)
y

Question # 7 of 10 ( Start time: 11:16:29 AM. 07 February 2021)

MTH301:Quiz#3 Quiz Start Time: 11:14 AM. 07 Fel
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Wallis sine formula when n is even
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Question # & of 10 ( Start time: 11:16:44 AM. 07 February 2021 )

MTH301:Quiz#3 Quiz Start Time: 11:14 AM. 07 February 20
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Wallis sine formula when n is odd
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One of the line integral properties is f Fds = — f Fds
AR BA
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